

5.4 Logarithmic, Exponential, & other Transcendental Functions

#38 $y = x^2 e^{-x}$, find $\frac{dy}{dx}$

$$\frac{d}{dx} [y] = \frac{d}{dx} [x^2 e^{-x}]$$

$$\frac{dy}{dx} = (x^2) \frac{d}{dx} (e^{-x}) + (e^{-x}) \frac{d}{dx} (x^2)$$

$$\frac{dy}{dx} = x^2 (e^{-x}) \frac{d}{dx} (-x) + (e^{-x}) (2x)$$

$$\frac{dy}{dx} = x^2 (e^{-x}) (-1) + (e^{-x}) (2x)$$

$$\frac{dy}{dx} = x e^{-x} (-x + 2)$$

$$\frac{dy}{dx} = x e^{-x} (2 - x)$$

#58 $e^{xy} + x^2 - y^2 = 10$, find $\frac{dy}{dx}$

$$\frac{d}{dx} (e^{xy} + x^2 - y^2) = \frac{d}{dx} (10)$$

$$\frac{d}{dx} (e^{xy}) + \frac{d}{dx} (x^2) - \frac{d}{dx} (y^2) = 0$$

$$e^{xy} \cdot \frac{d}{dx} (xy) + 2x - 2y \cdot \frac{dy}{dx} = 0$$

$$e^{xy} \cdot [(x) \frac{d}{dx} (y) + (y) \frac{d}{dx} (x)] + 2x - 2y \frac{dy}{dx} = 0$$

$$e^{xy} [x \frac{dy}{dx} + y] + 2x - 2y \frac{dy}{dx} = 0$$

5.4

$$e^{xy} x \frac{dy}{dx} + e^{xy} y + 2x - 2y \frac{dy}{dx} = 0$$

$$e^{xy} y + 2x = 2y \frac{dy}{dx} - e^{xy} x \frac{dy}{dx}$$

$$e^{xy} y + 2x = (2y - e^{xy}) \frac{dy}{dx}$$

$$\boxed{\frac{e^{xy} y + 2x}{2y - e^{xy}} = \frac{dy}{dx}}$$

#88 $\int \frac{e^{1/x^2}}{x^3} dx$

$$= \int \frac{e^u}{x^3} \cdot \left(-\frac{x^3}{2} du\right)$$

$$= -\frac{1}{2} \int e^u du$$

$$= -\frac{1}{2} (e^u) + C$$

$$\boxed{= -\frac{1}{2} e^{1/x^2} + C}$$

let $u = \frac{1}{x^2}$

$$u = x^{-2}$$

$$\frac{du}{dx} = -2x^{-3}$$

$$\frac{du}{dx} = \frac{-2}{x^3}$$

$$-\frac{x^3}{2} du = dx$$

check: $\frac{d}{dx} \left[-\frac{1}{2} e^{1/x^2} + C \right]$

$$= -\frac{1}{2} \left[(e^{1/x^2}) \frac{d}{dx} \left(\frac{1}{x^2} \right) \right] + 0$$

$$= -\frac{1}{2} e^{1/x^2} \cdot \left(\frac{-2}{x^3} \right)$$

$$= \frac{e}{x^3} \quad \checkmark$$

5.4

#90

$$\int \frac{e^{2x}}{1+e^{2x}} dx$$

$$= \int \frac{e^{2x}}{(u)} \cdot \left(\frac{du}{2e^{2x}} \right)$$

$$= \frac{1}{2} \int \frac{1}{u} du$$

$$= \frac{1}{2} \cdot \ln |u| + C$$

$$= \frac{1}{2} \ln |1+e^{2x}| + C$$

$$\boxed{= \frac{1}{2} \ln (1+e^{2x}) + C}$$

$$\left| \begin{array}{l} \text{let } u = 1+e^{2x} \\ \frac{du}{dx} = e^{2x} \cdot 2 \end{array} \right.$$

$$\frac{du}{2e^{2x}} = dx$$

$$\begin{aligned} &\text{check; } \frac{d}{dx} \left[\frac{1}{2} \ln(1+e^{2x}) + C \right] \\ &= \frac{1}{2} \cdot \left(\frac{1}{1+e^{2x}} \right) \cdot \frac{d}{dx} (1+e^{2x}) + C \\ &= \frac{1}{2} \cdot \left(\frac{1}{1+e^{2x}} \right) (e^{2x}) \cdot \frac{d}{dx} (2x) \\ &= \frac{1}{2} \cdot \left(\frac{1}{1+e^{2x}} \right) (e^{2x}) (2) \\ &= \frac{e^{2x}}{1+e^{2x}}, \quad \checkmark \end{aligned}$$